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'Addi'rion with Decimals

Solve the equations.

1.635+841=__  1.1364+88=__
2.276+234=____ 2.75+186=_____

3.3194+196=__  3.226+361=__
4.366+974=___  4.873+95=__

5.228+229=___ 5 364+663=__
6.531+922=__  6.724+825=__
7.146+79=__ 146+375=__

8.28.3+625= 8.29+96+=

9.7.36+146 = 9.63.4+444 -

10.634+57=___ 10.637+86=__

Worksheet 3
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'Addi'rion with Decimals

Solve the equations.

2.27.6+234=2994 2. 75+18.6=26.1

3.194 +19.6 = 39 3.226+361=587

4 366 +974=-4634 4. 873+95=-968
b.228+229=457 5 364+663=1027

6.5.31+922=-1453 ¢ 724 +825=8065

7.146+79=225 7.14.6 + 3.75=18.35
8.283+625=908 8.29+96=125

9.736+146=2196 9 634+444=-6784

10.634+57=691 10.6.37 +8.6 =1497

Worksheet 3




